) Wedsies Aot prfr bty pi [ate poic! pofiehe
o T L et
2) Mg zuu7 pa Jranie” . L syt Oltnciac,!

@ ,7”“//) ’-'5/("——/)(+oz/”—f A n
2 *‘erf: 1 é%

74({(/&), YPy-p =0 = Fr-Ls0 = t=5
)

i) " 2= 7

4"[%/07 .
Lhe iy B (B) +0) = 1
521 2 A, Aoy

v
7 ... M'CM’ L vbs *// JLM(,WQ/ brticee

X = M b A t=0 / t,ﬂ.r
' 4
/z_,f::/ btz (B

. tt-. t \ f-—
F/—/;) —'—‘7/}[Mé/'ﬁa,-f)=- Cen’y - fery +/-¢‘w:7, —
Flit) = 64wt (—m&) t Lpnt + L 2Ayt. ent
= (1 emtout + Lot + Hentét = gyt [~iRent + 4 +hend)




it (3= feurt) =0

At (1 -¢ent)] =0
Yot (1-eet)

! t e Lo 17>
Hh¥ =0 et =1
<=0 £t =0
t = LT

~+3=['1,‘a7 - £t =0 -t=27
¢=L-lo] €=7
f(%/()) = — %}- e—/.&é. heq
ﬁé( 10) = -7
f('f,'o) = 7 & f,&é./«m{



